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Questions from homework
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Plotting Linear Relations

Plot the function by:
a) Table of values
b) X and Y intercepts
¢) Slope andy intercept (y =mx+b)

y=-2x+4




Plotting Linear Relations

Two cab companies charge different rates. After how long will the cost
be the same no matter what cab you take? W
"y wrercept or b value
Yellow Cab: $4.00 flat rate plus $1.50/km
Casino Cab: $1.50 flat rate plus $2.00/km

&

-0%x = -3.9

( = 5Kkm
\9545513&\ Bea

. 15
an '\np over HKm J° a
T Loould chovse \je“ou 3" AsI 415

colo os i costs \ess . 10+1.5
@5\\50\

(5, 11.50)




Consider the following payment plans. At how many hours is the pay
the same?
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Homework
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